FRAMES COMPONENTS

TYPE 130

(86PZ62P07 SAo01G € Y
LPYSDM+HINU+())TXOTIN

MILD
L6FL6 q YN

JPYSDM+HINU+())TXOT IV
MaLg

10
10
11
11
12
12
13

13
14
14
15
15
16
16

17
17
18
18
19
19
20

0T 2dK]  spuosvip ju

12
12
14
14
16
16
18
18
20
20
22
22
24

24

26
26
28
28
30
30
32

32

34

34

36
36
38
38
40
40
42
42
44
44

0€T 2dK] sppyuoziioy ju

(616€6 + 816£6 + LI6EG
apoo) avydyoof 4of sjjog

TYPE 90-110

(C6¥26 2P07)
ADYSDM+INU+() XS
MaLS

10

11

10
12
11
13
12
14
13

15
14
16
15
17
16
18
17
19
18
20

19
21

20

(£6¥26 2P07) 9019
YN LIYSDM+INU+( L XQIN
MaLS

0IT - 06 °S Spuosvip u

10
10
11
11
12
12
13
13
14
14
15
15

16
16
17
17
18
18
19
19
20
20
21

21

22
22

orr
- 06 'S S[pyuoiioy ju

(PI6€6 + £16£6 + T16E6
apod) avpdpoof 4of sjjog

TYPE 70

(06¥26 2P09)
DYSDM+INU+()SXQIN
MaLS

10

11

10
12
11
13
12
14
13

15
14
16
15
17
16
18
17
19
18
20
19
21

20

"~ (I6FZ6 2P02) I0Iq
YN LIYSDM+INU+()SXQIY
MaLS

04 2dK[ sppuo3vip u

10
10
11
11
12
12
13
13
14
14
15
15

16
16
17
17
18
18
19
19
20
20
21

21

22
22

042dK] sppjuoziioy ju

(PI6€6 + £16£6 + T16E6
apoo) aydpoof sof sjjog

aydyoof-ajpy

spySradn ju

S

1800 | 2 | 2

2100 2 | 2

2400 2| 2

2700 2 | 2

3000| 2|2

3300 2|2

3600| 2|2

3900 2|2

4200 2| 2

4500 2 | 2

4800| 2| 2

51002 | 2

54002 | 2

57002 | 2

6000 | 2 | 2

6300 | 2 | 2

6600 | 2 | 2

6900 | 2 | 2

7200 2 | 2

7500 2 | 2

7800 ( 2 | 2

8100| 2| 2

8400| 2| 2

8700 2| 2

9000| 2| 2

9300 2|2

9600| 2| 2

9900| 2| 2

10200\ 2 | 2

10500( 2 | 2

10800( 2 | 2

11100| 2 | 2

11400| 2 | 2

11700| 2 | 2

12000| 2 | 2

ISIINOYI 19jjede)dog




j—
e
(=
—
(—]
e
jd
=
[
(— 3
(2]
s
[
(—]
(—

85

70

TYPE OF UPRIGHTS

TYPE 70

PN

Thickness 15\10

TYPE 110

LA K

—~—_

Thickness 20\10

TYPE 90

o

L_f“—"\_

75

Thickness 15\10 or 20\10

TYPE 130

100

Thickness 20\10 or 25\10



j—
()
|
Rk FRAMES CONFIGURATION
_—
[ — ) ST A A
[—— 0l | The diagonals’ pitch in height is
— : . | always 600 mm. In case of single
e - o ; ] ending horizontal, this must be
a : ; ol |k positioned at 400 mm from the
— o - last diagonal.
(-] =
—x | The height from floor of the first
s T horizontal is specified in the
% . : following pages.
a BER e :

o “ R :

Configuration B
Configuration A g é é
1800 2100 2400 2700 3000 3300 3600 3900 4200 4500
4800 5100 5400 5700 6000 6300 6600 6900 7200 7500




j—
e
(=
—
(—]
e
jd
=
[
(— 3
(2]
s
[
(—]
(—

7800

10200

8100

10500

8400

10800

8700

9000

11100

9300

11400

9600

11700

FRAMES CONFIGURATION

9900

XXX/NNNNNNAN/N

12000



ASSEMBLY FRAMES TYPE 70-90-110

2[ 1
1_ 1 : g T
: ! : | 600
| | 400 : ‘B
2 A L]
i * B e
| 600 : , | 600

- T !

[
e
(=
—
(—]
e
ajd
=
[
(— 3
S
ajnd
[
(—]
(—

i X 1 600 : , L 600
20 i 2l A 2

i i a 2

: | 600 : | 600

M L2 20 2 ¢
i s =

: , | 600 E P | 600
o Config. A o o Config. B o

The first horizontal must be fixed to the 3¢ perforation from the
floor (about 150 mm) . The diagonals have always pitch every
600 mm. In configuration “A" the last horizontal must be positioned
at 400 mm from the last diagonal.

1 2
B[ o
b ’
C ~{
C
d
@ %ja J
§ Q
\\ \
q G
N
\} Q ) -
G The flooring fixing hole must
§ 0 be of diameter @ 10 mm.
\ A Q
TYPE 70 TYPE 90 TYPE 110
a — screw M8x50 a — screw M8x70 a — screw M8x50
b - pvc shims 16mm b - pvc shims 25 mm b - pvc shims 25mm N d bol
¢ - square washer ¢ - square washer ¢ - square washer uts :“ |° ts
d - nut M8 self-lock. d - nut M8 self-lock. d - nut M8 self-lock. requures g" y type
e — screw M8x16 e — screw M8x16 e — screw M8x16 o
f — washer D8 f — washer D8 f - washer D8
g — nut M8 g - nut M8 g — nut M8




j—
e
(=
—
(—]
e
jd
=
[

(—~

S
s

[

(—]
(—

1 ;1
: : 4 600
1 400
1 ‘
;!
H fl
4 12 : ’ :
ey
: 1 600 Bl | 600
lo| o p N
3 13 : S :
|
i
i N
| 600 600
3 3
] R}
"l
7
|
J 600 600
‘;1
HE
I

Config. A

The first horizontal must be fixed to the 2nd perforation
from the floor (about 130 mm). The diagonals have
always pitch every 600 mm. In configuration “A" the last
horizontal must be positioned at 400 mm from the last
diagonal

Config. B

TYPE 130

a — screw M10x100

b - pvc shims 72 mm
Cc — pvc shims 24 mm
d - nut M8 self-lock.
e - washer D10

f — screw M12x35

g - nut M12

h - washer D12

Nuts and bolts
required only type
8.8.

The flooring fixing hole must be of
diameter @ 10 mm.



